Class-X Session 2022-23
Subject - Mathematics (Standard)

Sample Question Paper - 42

With Solution
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Time :3 Hoors Mlax. Marks : 80

L This Question paper cantains - five sections A, B, C, D and E. Each section is compulsory. However, there are internal
choices in some guestions.

Section A has 18 MCQ% and ()2 Assertion-Reason based questions of | mark each.
Section B has § Very Short Answer {VEA)-type guestions of 2 marks each.
Section C has & Shart Answer (54)-type questions af 3 marks each.

Section D) has 4 Long Answer (LA )-type questions of § marks each.

= T R S PR

Section E has 3 case based integrated units of assessment (4 marks each) with sub parts of values of 1, | and 2 marks
each respectively.

SECTION-A [Multiple Choice Questions)
Each question carries | mark.
1.  For which value of p, will the lines represented by the following pair of linear equations be parallel
Jr-y-5=0 fr—2y—p=10
() all real values except 10 (b) 10 {c) &2 (dy 12
2.  Ifone zero of the quadratic polynomaial

%2 _Bx —mis —. then the other zero is

2
@ 3 ® -3 © 3 @ =
3. Thenttermofthe AP a, 3a, 5a,......., 05
{a}) na b} (2n - 1)a {(e) (Zm+ 1)a (d} 2ma
4. The condition for one root of the quadratic equation
ax® + br + ¢ = to be twice the other, is
{a) P =4dac (b} 28 =9%ac (c) et=da+ (d) ?=9a-}

5. The rational number of the form £ ,g =0, pand g are positive integers , which represents 0,134 i.e, (0.1343434__)is
7

134 W 133 o 13

@ 3% ®) San € g5 “) Se0

6. Ratio in which the line 3x + 4y = 7 divides the line segment joining the points (1, 2) and (-2, 1) 15
(a) 3:5 by 4:6 {cy 4:9 (d} Nome of these

7. IHfx=psecBand y=gtand,then

1
(a) =2yt =plg? (b) *g?-yip*=pg Lk i =S R B a4

8. If the mid pomnt of the line joining (3, 4) and (k, 7) 15

(x,y)and 2x + 2y + | =0. Find the value of k.

(a) 10 (b} —-15 (c) 15 dy —-10
9. Inthe given figure, DE || BC. The value of EC is

(a) 1.5 cm (b} 3cm (d) 1ecm



10. (cos*A — sin*A) is equal to

{a) 1-2costA (b) 2sinfA—1 {c) sin®A —cos’A (d) 2cos’A-1

11. In what ratio is the line segment joining the points (3, 5) & (4, 2) divided by y—axis?
(a) 3:2 (b} 3:4 {c) 2:3 (dy 4:3

13, The perimeter of a sector of a circle with central angle %0° is 25 cm. Then the area of the minor segment of the arcle is.
(a) 14 em? (b} 16 em® {c) 1% cm? (d) 24 cm®

13. Two chords AB and CD of a circle intersect each other at
P outside the circle. IFAB = 5 cm,
BP =3 cm and PD'=2 cm, find CD.
{a) 4em
(b) 5em
ic) &em
{d) 10 cm
14. The angles of elevation of the top of a tower, as seen from two points A and B situated in the same line and at distance x
and y respectively. from the foot of the tower, are complementary. Find the height of the tower.

(2) Jx+y (b) fxy (e) xy (@) vx+y

15. ABCD s a rectangle whose three vertices are B (4, 0), C (4, 3) and D (0, 3). The length of one of its diagonals 15

fa) 5 by 4 (c) 3 (d) 25
16. What is the arithmetic mean of 20 fours, 40 fives, 30 sixes and 10 tens?
{a) 30 (b 25 (c) 5.6 (d) 33
17. [Ifradii of two concentric circles are 4 cm and 5 cm, then length of each chord of one cirele which 1= tangent to the other
circle, is
{fa} 3em (b} &cm {c) 9em (d)y 1em
18. The mean of discrete observations y,, ¥,, .-..-n.oy ¥, 15 given by
E}’; g-},l E_,}';_.I'-.- ;.J"rﬁ

(a) = ib) (c) iy =

n gf T Ty

jml

(ASSERTION-REASON BASED QUESTIONS)

In the following questions, a statement of Assertion (4} is followed by a statement of Reason (R). Choose the correct answer
out of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true.
19. Assertion : 2 15 a rational number.

Reason : The sguare roots of all positive integers are irrationals.
20. Assertion : If the probability of an event is P then probability of its complementary event will be 1 - P

Reason : When E and E are complementary events, then F{E) + P{E] =]

SECTION-B

This section comprises of very short amswer type-guestions (V54) of 2 marks each.

21. Sum of the ages of a father and the son 15 40 years. If father's age is three times that of his son, then find their respective
AEES.

22. 3 and T are points on sides PR and QR of APQR such that < P= ~ RTS. Show that ARP() ~ ARTS.

23. Find out the value of +Jsec? 8.4 cosec’



14,

15.

In Fig. if TP and T() are the two tangents to a circle with centre O so that ZP0Q = 1107, then find the measure of £PTQ

OR
In figure, a quadrilateral ABCD ig drawn to circumscribe a circle, with centre O, in such a way that the sides AB, BC, CD
and DA touch the circle at the points P, (), B and 5 respectively. Prove that AB + CD = BC + DA

D I L

A [ B
Find the coordinates of the point which divides the line segment joining the points (6, 3) and (— 4, 5) 1n the ratio 3 : 2

mternally.
OR
Find the coordinates of points which trisect the line segment joining (1, — 2) and (- 3, 4).

SECTION-C

This section comprises of short answer type guestions (§4) of 3 marks each.

26.

27.

28.
29,

30.
31.

The houses of a row are numbered consecutively from | to 49, Show that there is a value of x such that the sum of the
numbers of the houses preceding the house numbered x 15 equal to the sum of the numbers of the houses fallowing it. Find
this value ofx. [Hint : 5§ _, =5, -5 ]
Find the sum of values of a and b for which the following system of linear equations has infinite number of solutions:
2x+Jy=7
fa+b+x+{a+2b+2y=4a+b)+ 1
Draw the graph of the quadratic polynomial f{x) =3 — 2r — x%. Also find its zeroes.

0 @ GO L

=m and
cos B o &In

If

= n , show that {mz-d-nl}maz |§I-=.l':|2
ORr
Find the value of “x* such that 2 cos ec? 30° + x sin” mﬂ_%ml 30° =10

A quadrilateral ABCD is drawn to circumscribe a circle, Prove that AB + CD =AD + BC,

Twodice are thrown simultaneously. What 15 the probability that the sum of the numbers appearing on the dice 1= a prime number?
OR

Cards marked with numbers 13, 14, 15, .......... , 60 are placed in a box and mixed thoroughly. One card 1s drawn at random

from the box. Find the probability that the number on drawn card is

i1) divisible by () anumber which 15 a perfect square.

SECTION-D

This section comprises of long answer-type questions (LA) of § marks each.

31

33.

34.

Find the roots of the ':a'.|uat'u:r|'|.r..::'-"| -ix+2=10

AB AD
IfAD and PM are medians of triangles ABC and POQR, respectively where AABC ~ APQR, prove l.hatﬁ' M

In figure, a tent 15 in the shape of a cylinder surmounted by a conical top of same diameter. 1f the height and diameter of
cylindrical part are 2.1 m and 3 m respectively and the slant height of conical part is 2.8 m, find the cost of canvas needed to

22
make the tent if the canvas is available at the rate of ¥ 500/sq. metre. [Usr = T]



= 3Im —*

OR
A the largest possible sphere is carved out from a wooden solid cube of gside 7 em. Find the volume of the wood left.

21]
Use n ===
{ SE W =)

35. The following table shows marks secures by 140 students in an examination :

Marks 0-10 [ 10-20 | 20-30 | 3040 | 40-50
No.of Student | 20 24 40 36 20

Calculation of mean by Step-deviation method.

OR
The following table shows the ages of the patients admitted in a hospital during a year:
Age (in S-1515- 25(25- 35)35 - 45]45 - 5555 - &5
years)
Momber of 3] I 21 Pk 14 5
patients

Find the mode and the mean of the data given above. Compare and interpret the two measures of central tendency.
SECTION-E

This section comprises of 3 case study/passage - based guestions of 4 marks each with three sub-parts (i), (i), (i) of
marks I, I, 2 respectively.
36. Case - Study 1: Read the following passage and answer the questions given below.

To enhance the reading skills of grade X students, the school nominates you and two of your friends to set up a class

library. There are two sections-section A and section B of grade X. There are 32 students in section A and 36 students
in section B.

(i) What is the minimum number of books you will acquire for the class library, so that they can be distributed equally
among students of Section A or Section B?

(ii) If the product of two positive integers 15 equal to the product of their HCF and LCM is true then, the HCF (32, 36) s

(i) 7= Il = 13x 15+ 151s5a

OR
If p and q ere positive integers such that p = ab® and
q= a’h, where a, hare prime numbers, then the LCM (p, q) is



37. Case - Study 2: Read the following passage and answer the questions given below.

38.

Vijay is trying to find the average height of a tower near his house. He 1s using the properties of similar triangles. The height
of Vijay's house if 20m when Vijay's house casts a shadow 10m long on the ground. At the same time, the tower casts a
shadow 50m long on the ground and the house of Ajay casts 20m shadow on the ground.

Fom=gsm-

B s s

Vijay's Meged  Tivwer il

Ajay's Howse
{i} What is the height of the tower?
{ii) What wall be the length of the shadow of the tower when Vijay's house casts a shadow of 12m?
{iii) What is the height of Ajay’s house?
OR

When the tower casts a shadow of 40m, same time what will be the length of the shadow of Ajay’s house?
Case - Study 3: Read the following passage and answer the questions given below.
Adventure camps are the perfect place for the children to practice decision making for themselves wathout parents and
teachers guiding their every move. Some students of a school reached for adventure at Sakleshpur, At the camp, the waiters
served some students with a welcome drink in a cylindrical glass and some students in a hemisphencal cup whose dimensions
are shown below. After that they went fora _]I.IELE]E trek. The jungle trek was en ZJu}mhﬂ: but tiring. As dusk fell, it was time to
take shelter. Each group of four students was given a canvas of area 551m*°, Each group had to make a conical tent to
accommodate all the four students. Assuming that all the stitching and wasting incurred while cutting, would amount to 1:|:|:L
the students put the tents. The radius of the tent 15 7 m.

d =7 cm T —— Ty
=5 _' A he= [k S & ne -\.-"'-- i e
Area = 551 md

{i} The volume of cylindrical cup is

{ii) The volume of hemispherical cup is

{iii) The height of the conical tent prepared to mmmndatc four students 15
OR

How much space on the ground is occupied by each student in the conical tent



13

T.

Solution

SAMPLE PAPER-10

(a) Ifthe lines are parallel, then

T )

a b o
Here,a,=3,b,=—1,c =-5,
a,=6,b=-2 c=—p

3 -1, =S

- =z

s o (i)

Taking IT and I11 part of equation (i), we get

1 =5
—45:: = =p2=I0 =p=I0

S0, option (a) 15 correct.
5
{e) Leta, P be two zeroes of 2x° — Bx —m, where @ =E.

[-Cﬂ-l:l"fil::imt of x}

s a+h=
Coefficient of x°

b a=a+(n-l)d=a+n-1)la
[ d=3a-a=2a]
=g+lan-Ja=lan—-a=(2n-1)a

i 11+1:1=-£ and [::n:lc:-i =3u--£
a a i

3
=.‘:-E|'.l--;; and Euliiﬂl[-—b] e

a 3o i
W ¢
= ;"'5 = ; = Yab? - Oafc =10 = a( 25 - Qac) =10
a

Smee ax0, - 20*=9%c
Henee, the required condition is 25* = 9ac

— 134=-1 133
0134 = -—

(d) =
_A+42)-7 _ 4 4

& "3 yean-7 -9 9

x
(d) We know that sec™® - tan®8 = | and sec 8 = ;-.

10

1.

12,

¥

tan B ==

g

rg- pyi= pig
(b) Smee(x, y) is midpoint of (3, 4)and (k, 7)
447
253
Also 2x + 2y + | =0 putting values we pet
I+k+44+T+1=0
= k+li=0=k=-15
(e} Smnce, DE||BC -~ AADE ~AABC

| =Emd 3"

A[}=£=}E=L:h£f=2 cm
DR EC 3 EC

) (eos* 4—sin® 4) = (cos® 4)7 = (gin? 4)

= {:-:351 A -sin? .{]{:ursl 4 +sin” A)

= {c:n:.'ns2 A-sin? AYly= cos” 4 =l —cos” A)

=2 postd - |

(b) Let the required ratiobe K : |

. The coordinates of the required point on the y-axis 1s

Ki-4)+3(0) _K2)+3(1)
x= Y=

K+l 7 K+l
Since, it lies on y-axis
& Its x-cordinates = 0
LKA 0o 4k 43=0
K+l
=rﬂ'=i
4

3

ﬂﬂﬁluimdralinti =1 ~oratio=3+4

{a) Perimeter of sector =25 cm

® Mrr=25

8
4
TR e

e
3e0®

22
== I+ HEHTM-EE

i1
= E:r+? r=24 = ===} =tyr=T7

7

w8 =8 2
s 2

Area of minor segment = [


user
Typewritten text
Solution


27 90° sin90°Y _,
‘(?‘3450*‘ 2 Jt‘ﬂ

=[-I'.]---I-'-];|{4'}=. iil{d-'} = ]-lil::'m!.

14 2 14
d) Since, two chords AB and CD of the circle are
intersecting at P, when produced.
= PA PB=PCPD
[Each = {length of the tangent from P}]
(AB+PB). (PB)=(PD+DC).-PD
(5+3)(3)=(2+x)2
U=24x)()=12=2+x
r=10=CD=10cm
Let DC be the tower of height *h* metres.

13.

BEL L UL

14.

ot AACD, B 6

x
I

hm

Inrt. ABDC, tan (90 —8) =£
¥

h
= mm=; (i)

Multiplying (1) by {i1), we get

tan 8= cot |3=£:r:i

= X
;2

tan8 xy

= fan b=

.&1
::-]=—::-J:2=1.:|.=
xy

::-.FI=E

15. (a) A Bi{4,0)

16.

17

18.
19,

0.

21.

According to the figure
BD isthe diagonal of ABCD.
By distance formula

2 2
BD ='\ﬁ12 =x; )" +(y2=w)

=l4=0 +(0-3)

=25 = 5 units

_20(4)+40(5)+30(6) +10(10)
; 20+ 40+ 30410

= |

lc)

_B0+200+180+100 560 _
- 100 100
(b} Suppase (0 be the centre of two concentric circles C|

and C,, whose radii are ry =4 emand ry =5 em we drawa
chord AC to circle Cy, which touches the circle C at B,

Then, join OB, which 15 perpendicular to AC.

5.6

Mow;, in right angled AQBC,
OCi=BC?+ BOF
by using Pythagoras theorem
= 5'=BC?+4
= BC'=25-16=9
= BC=3gm
So, length of chord AC = 2 BC = 2 = 3}

=Hem

(a)
{e) Here, reason 15 not true.
-+ 4f4 =+2 which is not an irrational number,

5. Reason does not hold. Clearly, assertion is true.

(a) Both statements are correct and Reason 15 the commect
for Assertion.

Let ages of father and son be x and y respectively.

x+y=40 A1)

=3y Ay [ Mark]
By solving eqgs. (i) and (i)

x=30andy= 10

Apes are 30 years and 10 vears, [1 Mark]



21. In figure,

We have ARPQ) and ARTS in which
LRPO=<RTS {Given )
LPRO= £5RT {Each= <R) [1 Mark]
R
8 T
P L#]
Then by AA sirmlarity criterion, we have
ARP(Q)~ARTS [1 Mark]

23. Consider y/see? 8+ cosec?® = \[sec? 84 cosec? 8422
[t Mark]

= fsec? 81+ cosec? B-142 = yJtan? B+ cot? 842

= |(tan 8+ cot 6)° =tan B+ cot 8 [1 Mark]

24. Infigure, TPOC) is a quadrilateral. Here, Z0PT
= 00T =90

[+ radius is perpendicular to tangent]

= LPTQ+ LPOO= 1807 [1 Mark]

[ sumofall angles of quadrilateral 15 360°)
= LPTQ +£110°=180° = LPTQ =T0°
OR

As, the tangents drawn from the exterior point toa
circle are equal in length.

S0, DR=DS (1)
AP= AR ~.{i1)
BP=R0Q {118}
CR=00Q (v} [1 Mark]
D E
7N
s Q
A P B

Adding (i), (ii), (iii) and (iv), we get

DR+AP+BP+CR=DS+AS+BQ+CQ
= (DR +CR)+({AP+BP)=(DS+AS)+(BQ+CQ)
= (D+AB=DA+BC=AB+CD=BC+

DA (Hence Proved). [1 Mark]
25, Let Pix, y) be the required point. Then,
Ix4+2x6 Ix5+2x3
T em AT

= x=0and }'-% [1 Mark]

T — 1
A(6,3) AP(x,y) B{4,5)
o, the coordinates of P are (0, 21/5) [1 Mark]

OR
Let A(l,-2)and B {- 3, 4) be the given points. Let the
points of trisection be Pand Q. Then, AP=PQ=0QB=34
(say).
- A _ A L A -
A(l,-2) P o B(-3.4)

PE=PQ+0QB=2 and AQ =AP+P(Q =2 [l Mark]
= AP:PB=):X=0:2and AQ:QB=2}:0=2:]

S0, Pdivides AB internally in the ratio | : 2 while () divades
mternallyin theratio2 : |. Thus, the coordinates of P and

Jare
Ix(-3p+2x] 1 x4+2x(-2) -1

P = Pl —.0
[ 1+2 1+2 ] {3’ ][”"“'*]
2x(-3+lxl 2x4+1x(-2) -5

'?[ 2+l ° 2+l ]“g[s ’1]
respectively

Hence, the two points of trisection are (—1/3,0) and (-5/3,2)

[1 Mark]

26. Here,a=1,andd=1

ﬂ,,_.=f-2‘-5[zx1+[x-1-nx1]

J:'E—I

2o EDE _
2 2

=I—_][1+1—
2

x ax

5ﬂ=--;-[2:-e:l+{.t--]}:re:]] =§.[:+n= [1 Mark]



27.

and, Sq =%[1x1+f4~;_1}31]

=%[1 +48] = Z—I}nﬁﬂl =49x 25

According to the gquestion, [ Mark]

8

a1 =349 =5,

xz 2
X —X X +x

=49 25

o

II—J:' I]+I

+ =40 x 25
2

=

2z
= w=49xli

= % =405 = r=#Tx5 [¥ Mark]

.+ x 18 a counting number, so taking positive square
root, x=T7x 5=35,

Hm,i= 2 ;E-n=a---—---—---—---3 .
a; a+b+l b a4+2b42

L TR

o2 Ha+b)+1

.E._-.'E'L-i 2 3 - 7
gy B o3 T asb+l a+2h+2  Ha+b)+1

[% Mark]
(11

28,

Taking | and 11 & taking Il and 111

1 3 3 ¥
atbel gadbraid e a da+h)+1

[ Mark)
la+3b+3=2g+4b+4and 120+ 126+3=Ta+ 14b+14
a-b=1 (1) [ Mark]
and Sa-2h=11 {1}
Multiplying (1) by 2 and subtracting (i1) from (i)

2a-2b=2

Sa-2b=11
-3g=-9= a=3
Putting the value of a in (1), we get
a-b=l=3-b=1 = b=2 [1 Mark]
Lety= f(r) or y=3-2x_x

Let us list a few values of y=3 T corresponding to
a few values of © as follows ¢

S|4 3|2|-1|0f1]2] 3

_1-'=3|—11—II

25|03 |4 ([3|0]-5]-12

Thus, the following points lie on the graph of polynomial
y=3_Ix_x;

(5,12}, (4, -5), (3. 0) (=2, 3).(-1,4),{0, 3),(1,0), (2,-5),
and (3, - 12)

Let us plot these points on a graph paper and draw a smoath
free hand curve passing through these points to obtain
the graph of y =3 — 2x — x*_ The curve thus obtained is a
parabola. [2 Mark]



29,

b B ——— X
-8 -7 -6 6 7 %
{-5-12) 12— (3-12)
T
‘.‘l
[1 Mark]
The parabola intersects X-axisat xr=-3 and |. Therefore,
roats of the ial are—3 and 1. X Bk Mad
ZETOES O o ]Jﬂ-ljl'l.'ll:lﬂlzﬂ.rl: ; =,E+EI_EEE_H-_, [ ]
LHS l: 24 I} 1E [E-EIE @ ©cos u]nnslﬂ
= (m~+n7)cos”p = : 3 I3 40-3241
cos’ B sin” B oS R = [¥4 Mark]
[1 Mark] 4 & 4 4
=[nu51a5in11ﬂ+mﬁ:u::usiﬂ]mzﬂ :'-.-%1=;::a31=9=3123 [1 Mark]
sin” fcos
; P Given : A quadnlateral ABCD ercumscnbes a circle with
cos” u{sin1ﬂ+ cos” E} 5 centre (),
o o P cos” B
sin” Poos™ B A P B
[1 Mark]
o 2 2
= #zumlﬂ 'E?ﬁzu={ﬂf'|ﬂ‘|ﬂ 5 -0 Q
| sin” feos™ B sin j/
Pl g n | Mark
i 11 Mok] D R C
Henre Proved. To prove : AB+CD=AD+BC
OR Proof : Since, tangents drawn to a circle from an exterior
3 point are equal
lmszcjiﬂ"+1sinj-ﬁﬂ“—1mnzlﬂ°=m AP=AS =i
BP=BQ) . |
2 2
. e {1 - CR=C0() ||
=4 *‘[?] “;[j;} =¥ [1 Merk] DR=DS AV [1 Mark]



3.

.y B

3.

Byadding 1, I, 11l and TV we pget,
AP+BP+CR+DR=AS+BQ+CQ+DS

(AP +BP)+(CR+DR) =(AS+ DS)+{BQ+C0Q) [2 Marks]
AB+CD=AD+BC

Hence, proved.

Total number of possible outcomes when two dice are

thrown simultaneously = 36 [1 Mark]

Sum of the numbers mg on the dice 18 a prime number

ie,2 35 Tand 11

50, the possible outcomesare( 1, 1), (1, 2), (2, 1), (1,4, (2, 3),

(3, 20,4, 1), (L, 6142, 51, (3,4).(4,3),(5,2),(6, 1), (5, 6)and (6, 5).

Nurnber of possible outcomes = 15 [ 1 Mark]
required probability= — = % [1 Mark]

OR
Total no. of cards =60 — 12 =48
= Total no. of outcomes =48
Mumbersare 13, 14, 15, 16, ............. 60,
{1} Mumbers divisible by 5 are 15, 20, 25, 30, 35, 40,45,

50, 55, 60, [ 1 Mark]
‘. Favourable outeomes = 10
lﬂl 5 |
*. P{no. 18 divasible by 5) = 43 ET [2 Mark]

() Perfect square numbers are 16,25, 36,49 ['sMark]
*. Favourable outcomes = 4

4 1
. P{perfect square) = T

[1 Mark]
Given equation is x~ —3x+2=10 [1 Mark]
fhcunpm‘hgwiﬂim'z+hr+r=ﬂ,w:gdﬂ =lbh==3c=3
Now, Apply discriminant

D=8 —dac=(=3)* —4(1)(2)=1 =D =1 [2Marks]

The two roots are given by th.fﬁ,i’.e., A =i|m|:1E
2a i L
[2 Marks]
Henee, the two roots are | and 2.
AABRC ~APQR
(Given)
A BC_AC,
P) QR PR’
ZA=sP sB=s0Q, sC=sR .1y

I 1
Now, BD=CD= < BC and QMtRM-EQR -(2)

(" D ismid-point of BC and M s mad-pomnt of QR) [ 1 Mark)
AB BC

PQ QR
AB _ 28D

PQ 20M
AB BD
= —=—

PO OM
AB BD

Thus, we have — = ——
PG OM
and ZABD=sPOM (<
= AABD-~APOM
(By SAS similarity critetrion)

From(1},

(By(2))

[2 Marks]

ZB=20)

AB AD

PQ PM
Canvas needed to make the tent = C.5_ A of the conical
part+ C.S. A ofthe cylindrical part
Criven that
Radius of the conical part = Radius of the cylindrical part

3

= =TT}

[2 Marks]

Slant height of the conical part=/{=28m
Height of the cylindrical part=h=2.1m

_ 22 3 1
C.S.A ofthe conical part = mr! =T” E” 2.8 m” [| Mark]

C.5.A of the cvlindrical part = 2nrh = Ex%x%x 21m’

[2 Marks]
Total area of the canvas needed to make the tent
_Exsxlﬂ-i-lxﬁxlel
_z—ijxflﬂ 41]'T2x;xT Bm®  [2Marks]

Cost of the canvas = ¥ 500/m?*

So, total cost of the canvas needed to make the tent =%

500 = 33=T1a, 500 [ 1 Mark]
OR

Side of cube =7 cm

-
Largest sphere carved out from cube with radius = o

[1 Mark]
Vil. of wooden left = Vol. of cube — Vol of sphere [2 Marks]
. 4 p . & XX T
-{ﬂd.:]ﬁ_Jn‘s_? ~IXFTEFRTES
539 1029-=5%39 4490
=343-—= = =—cm’ [2 Marks]

3 3



35, Leta=25{assumed mean) and h= 10 {class interval )

Deviation
Mid -
Marks | f; Point (x;) (“i e 15] fiu;
10
0=10 |20 5 =2 =40
10=20| 24 15 =1 =24
20-30( 40 25 0 0
I0-40( 36 35 1 16
40=50( 20 45 2 40
Total |140 12

[2 Marks]

Si +[Eﬂui h [1 Mark]
InCe, MEean = g —ZTJK Hr

(% fu
= mean= 15+I\Z~—’-“—’inﬂ=25+[E-Jx]ﬂ
f 140
= 25 86 (Approximate) [2 Marks]
OR

From the given data, we have the modal class 35-40.

{-+ Ithas largest frequency among the given classes of
the data}

So,i=35,£,=23,f,=21,f,= 14and h=10.

.Jr.ul_ﬁ
= | S . N SN VY
i +{2fm —ﬁ—fz}

23-21
=R — 10 =
{%—II—MJ‘H 36.8 years

1. 1

Now, let us find mean of the data [2 Marks]
Age Number of Class
30
(im years) patients {, mark x, 1, x.m fx u,
&15 & 10 -2 -12
15-25 11 ) -1 -11
2535 21 M=a 0 0
3545 3 40 | 3
45-55 14 50 . 2
5565 5 &l 3 15
Total n=R8{ 41
a=30,h=10,n=80and ¥ fu, =43  [2Marks] = 4xBx9=288 [1 Mark]
(u) HCF of32, 3615
1
Mean =ﬂ+hx;xz_ﬂur-= 4 3%
1 5, 4 R My
W+10x—x43=30+537 =3537 years. ’
&0 =4
ﬁugmn:l:=3-ﬁ.ﬂ:,rmandmn=35.3?3r:m- {Iiﬂ Txll=x13=x15+15
[t Mark] =% |5(T=1l=x13+1)
50, we conclude that the maximum number of patients 0 given no. is a composite number, [2 Marks]
admitted in the hospital are of the ape 36.8 years (apporx. ), OR
whereas on an average the ape of a patient admitted to
the hospital is 35.37 years. Griven a, b are prime number. So
3. ) Forpetting beast nmnber of books, LM “"I;F . where p=al’, g =&b
taking LCM of 32, 36 el sl
gq=axh=a
4 3236 axbxbxa=a’ [2 Marks]
BB D
S YL
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@ - AABC~APQR
AR BC 20 10

PQ QR PQ S0
= FO=100
*. Height of the tower = 100 m
() LetBC=12mand PQ=100m

AB_BC_ 20 12

PQ QR 100 QR

= (JR=60

i) =~ AABC~AXYZ
BC _ 20 _10

g . B
T XYTYZ X 10
= X¥=40

=
5
3““‘[\ I\
L o) 27

ORr
Let QR =40 m, PO= 100 m and XY=40m

R 100 40
2 200X 10 B L yretém [2Marks]

XYy Y27 40 ¥z
38, () Volumeofcylindrical cup=arh

2 1T 105 = 40425 e [ Mark]

e e
2

5

(1) Volume of hemispherical cup

(i} Curved surface area of cone= 5351 = nrl=441

[t Mark]
= Ex Txl=551 =1=125045
L h=yF-rf =2Mm [2 Marks]
[ 1 Mark] OR
2
= BT z
Space occupied by each student = pr =385m
[2 Marks]
[2 Marks]
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